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SECTION — I
AlRAARALRL A d Ol UHLAL Y lLod AML :
1 2UARRIYR ARl qetricds Wl dglddAl Rigld Zlsicns Ad qHendl. 20
2. AURAL 2RAL 2AL ERUHIRA 0L Rigld Aol 20
3. Hyd dURAL azBulAl 244 [A3g -l ecllal avoudl. 20
4. (A e [FaRoA uHuRle Albdnl Rigld 2lsicus 3d =1l 20
SECTION — II
5. el o o iR UBLAL el AL : (olglased usl) 10

(1) AR AUR 2 WRRUH 6.
(a) A [Aeuor- (b)  RAYSRL Ao
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(2)  ALARRUYIA TURAL 24 Rigid 51819y s4l el ¢
(a) ARYeUA (b)  SsuR-llsellA
) Bsa ooz (d) WSl AR
(3)  AURAYIA AUzl G2 .
()  [AsRAA MicAle A (b)  Qulgbl dell-ll 2RHqel getsdl.

(c) UYL 2UAs el (d)  RAYSRL AL LRl
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(6)  WRRMRS HLAL Rigld 5181 R0y sl ¢
(a) Hwld (b) [Ra
() [Rsisl d) 2BRLL
(7) A MU 2leal.
(a) UCUAL Gl UL g2l (b)  Hel
(c) UL [[RteIA (d)  GuRAL I
(8) 19+ uelui MRS Al a0l Alld-Al dRFuHL s ol ¢
(a) [k (b)  AsH RHY
(c) &fee d) 2BRLL
9) (el uctul-dl MidLyrasL gIRL Y AsSL AL & ¢
(a) v € (b) [ e
(c) dad& (d)  GUsL-LER
(10) o9 516 &2l (As11 ARl HidL Het Atat 1, dl AR Ul
(a) uldgn oid (b) 45U ol

(c) UHAlE o (d) 2[Aad
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SECTION -1

Give answer of any two of the following :

1. Critically explain the comparative cost advantage theory of International trade.

2. Explain the offer curve theory of terms of trade.

3. State the case for and against free trade.

4.  Critically explain the purchasing power parity theory of exchange rate.

SECTION - 11

5. Give answer of any five of the following : (M.C.Q.)

(1

)

3)
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International trade is the outcome of
(a) Division of labour (b)
(c) Cultural relations (d)

Political relations

Co-operation

Modern theory of International trade was formulated by

(a) Samuelson (b)
(¢) Kindle Berger (d)
The objective of International trade is

(a) to encourage exports (b)

(c) to increase national income (d)

3

Heckscher-Ohlin

Jacob Viner

to correct imbalance in payments

to increase political relations
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Which factor does not influence the terms of trade ?
(a) Import (b) Tariff

(c) Devaluation (d) Political relations

The deficits in the balance of payments could be solved by
(a) Import substitution (b) Export promotion
(¢) (a)and (b) both (d) None of the above

Who propounded the theory of reciprocal demand ?
(a) Marshall (b) Mill
(¢) Ricardo (d) Taussing

Devaluation of currency is

(a) Reduction in the external value of the currency
(b) Deflation

(c) Currency contraction

(d) All of the above

Who first argue in favour of protection policy in America in 19" century ?
(a) Fisher (b) Adam Smith

(c) Hamilton (d) Taussing

What can be determined by demand and supply of foreign currency ?

(a) Interest rate (b) Exchange rate

(c) Wagerate (d) Rate of rent

When the demand for exports commodity is elastic, then terms of trade will be

(a) Unfavourable (b) Favourable
(c) Remain constant (d) Indeterminant
4
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SECTION - I

ARAARALL A d Ol UHLAL Y llod AL :

1 2URls 2Rl 2L 38 7 IRAHL 2ALRls 2ullov-t-l Rilgl 22l 20

2. eRa-l 1991 200w AlA Zlsicns Ild u=l. 20

3. 2AeHL ANl (elHell Zlsicns 2ld w1l 20

4, GRAML CUL QRURLAL SRR AURIL 20
SECTION - II

5. elRAriRll A o iR WAL oL 2L : (olglased UL 10

(1) 2Rl d R ALy ARAAL ALARS 2UASAL Bl HIZ URSIRAL DALUR S .
(a) SRARL (b) N&Eq
(c) vEyrael (d) GurAL LY
(2) IR Rl
(a) [dsud 2eldat (b) (3t aldst
(©) (a) 2 (b) vid (d)  Gurmiall 51 A€
(3) Al 2RIl ARYAA Sl B 9
(a) Ml (b)  asiMeld
(c) U WellA (d)  AMAFHR

DA-106 5 P.T.O.



(4)

()

(6)

(7

(8)

)

(10)

DA-106

1991 2| 52l 2AURLs YURML AL AR wHel uBu 8.

(a) AsRls0L (b) GeaRlsel

(c) dluszel (d)  wirdilsrel

1991 AL ALl Heca| ca1aL 6.

(a) AL GeuleAHi d=Rl (b))  HUENBLS Bollg AL AaiRL
(c) uRdlAML BalRlszaL (d) USR] ARWDATHL LB

1991 AL Alld 2U-4AUR gt B2el BB el A w3 & ¢

(@) 25 (b) 20
) 15 d 18

Geg e A% URSIRL AR 53 LSl AU §R 6.
(a) ARl (b) ¥eull v
(c) ey (d) sl

Begell AlElHL AR S1AL AL Al 4] ¢
(a) SR AR (b) (g2l ouoidl
(c) =&l (d) el asell

5L B3 (LA ALUAL HEUHL I 2L 8 ¢

(@) 8. (b) €28,
) RARH. d) GlRovus.
UM MU ARl ALSRALS.
(@) HIPHL2SER QuUIRL (b) YRASIML 2ASER ©2LSl
(c) (a)2id(b) uid (d)  Gurudl 51 S
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SECTION -1
Give answer of any two of the following :
1.  What does economic planning mean ? Discuss the achievements of economic planning
in India ? 20
2. Critically discuss India’s Industrial Policy of 1991. 20
3. Critically discuss the recommendations of the Fourteenth Finance Commission. 20
4.  Examine the causes of price rise in India. 20
SECTION - 11
5. Give answer of any five from the following : (M.C.Q.) 10
(1)  For the internal financing of our five year plans the government has depends on
(a) Taxation (b)  Public borrowing
(c¢) Deficit finance (d) All the above
(2) Indian economy is
(a) Developing economy (b) Mixed economy
(¢) (a)and (b) both (d) None of the above
(3) Who is the Chairperson of NITI Aayog ?
(a) President (b) Prime Minister
(c) Finance Minister (d) Rajiv Kumar
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The issue which is not included in Economic reforms from 1991 is
(a) Urbanisation (b) Liberalisation

(¢) Globalisation (d) Privatisation

Important feature of 1991°s industrial policy is
(a) Increase in food production

(b) Increase in industrial production

(c¢) Liberalization in licencing

(d) Increase in co-operatives

How many industries are subject to licensing according to industrial policy 1991 ?
(a) 25 (b) 20
(c) 15 (d) 18

Tax revenue is distributed between the central and state governments by the
(a) Planning Commission (b) Election Commission

(¢) Finance Commission (d) Prime Minister

Which of the following is not included in the Union list ?
(a) Public health (b) External affairs
(c) Defence (d) Water distribution

What happens to value of money during inflation ?
(a) itrises (b) it falls

(c) it remains constant (d) itmovesup

A general price rise can take place because of
(a) Rise in aggregate demand

(b) Fall in aggregate supply

(c) Both (a) and (b)

(d) None of the above




